Equivalence Relations

Prove {(a,b):a — b € Z} € RXR is an equivalence
relation.What is an equivalence class?




Equivalence Relations

Prove {(a,b):a — b € Z} € RXR is an equivalence
relation.What is an equivalence class!?

Prove {(a, b):a|b} € ZXZ is reflexive and transitive but
not symmetric




Equivalence Relations

Decide if equivalence relation. If yes, what are
equivalence classes? (S = set of all people who ever

lived)

* {(a,b): a, b have the same parents} € SXS§
* {(a,b):a,b share a parent} € SXS




